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1. Solve.

3 tenths +4 tenths = tenths

12 tenths +9 tenths = tenths = one(s) tenth(s)
3 hundredths + 4 hundredths = hundredths

27 hundredths + 7 hundredths= _____hundredths=______tenths _______hundredths
4 thousandths + 3 thousandths = thousandths

39 thousandths + 5 thousandths = ____ thousandths= ____ hundredths ____thousandths
5 tenths + 7 thousandths = thousandths

4 ones 4 tenths + 4 tenths = tenths

8 thousandths + 6 ones 8 thousandths = thousandths
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. Use the numbers in the table.
Write the number that has a 5 in:
a) the ten-thousandths position
b) the millionths position
c) the thousandths position
d) the hundred-thousandths position
e) the tenths position

. Describe the meaning of each digit in 4.524 371.

. Write each number in standard form.
a) 8and 26 ten-thousandths b) 24 millionths
¢) 3 hundred-thousandths d) 4and 374 millionths

. Write each number in expanded form.
a) 0.0056 b) 0.000 49 c) 3.000 023 d) 0.348619




